Crosley CW22B8M 05 - TRANSMISSION (SERIES 10-12)

Crosley Residential Crosley CW22B8M Washer Parts Parts Diagram 05 - TRANSMISSION (SERIES 10-12
Click on the part number to view part

Item Original Part Number Replaced By Status Part Description
1 25-7941 "O" Ring, Agtr Drive Shaft
2 21001066 Bearing, Centerpost
3 35-2792 21001401 Center Pos
4 33-6790 Bearing, Agitator
" 35-2983 Not Available CENTERPOST ASSY.
5 35-2906 Seal, Centerpost Bottom
6 35-2791 Nut, Spin Tube
7 25-7938 "O" Ring, Basket Drive Hub
8 35-3647 W10219156 Tub Seal
9 35-2974 Tub Seal/Hub Assembly
10 352716 12001561 iszg’r‘ngb@”d Seal Housing
11 35-2205 Bearing, Spin

Bearing And Seal Housing
Assembly

RING, RETAINING (AG.
SHAFT)

" 35-2972 12001561

12 25-7949 Not Available


http://www.pwslaundry.com/c-512327-residential-crosley-cw22b8m-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10432406-crosley-25-7941-washer-o-ring-agtr-drive-shaft.html
http://www.pwslaundry.com/i-10428915-crosley-21001066-washer-bearing-centerpost.html
http://www.pwslaundry.com/i-10433208-crosley-21001401-washer-center-pos.html
http://www.pwslaundry.com/i-10429618-crosley-33-6790-washer-bearing-agitator.html
http://www.pwslaundry.com/i-10429721-crosley-35-2906-washer-seal-centerpost-bottom.html
http://www.pwslaundry.com/i-10429725-crosley-35-2791-washer-nut-spin-tube.html
http://www.pwslaundry.com/i-10429729-crosley-25-7938-washer-o-ring-basket-drive-hub.html
http://www.pwslaundry.com/i-10434020-crosley-w10219156-washer-tub-seal.html
http://www.pwslaundry.com/i-10429733-crosley-35-2974-washer-tub-seal-hub-assembly.html
http://www.pwslaundry.com/i-10430083-crosley-12001561-washer-bearing-and-seal-housing-assembly.html
http://www.pwslaundry.com/i-10429577-crosley-35-2205-washer-bearing-spin.html
http://www.pwslaundry.com/i-10430083-crosley-12001561-washer-bearing-and-seal-housing-assembly.html

13
14
15
16
17
18
19
20

21

22

23
24
25
26
27
28
29
30
31

32

33
34
35
36
37
38
39
40
41

42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58

25-7057
25-7057
25-7895
35-2981
25-7895
35-2621
25-7758
35-2620

35-2971
35-3706
35-0542

33-4293N
35-3702
35-3804
35-2025
25-7847
25-7415
35-3384
35-2001
35-3608

35-2692

25-7274
35-3825
35-2070
25-7933
36-2527
21001067
35-2812
35-2010
35-2730
35-2973
21001162
21001164
25-7895

21001163

35-2017
35-2112
25-7930
25-7895
35-2948
21001161
35-2018

21001065

35-3829
LA-2007
35-2007
12500036
21001168

21001858

21001858

207843

12001562

35-6680

21001518

21001858

21001910

21001858
21001858

35-6714

21002026

35-6918

12002213
12002213

12002213

35-6680

Not Available

Not Available

Not Available

Not Available

Not Available
Not Available

Not Available

Not Available

Not Available
Not Available

Not Available

Washer, Flat

Washer, Flat

Screw 5/16-18 x 1/2
Cover, Reinforcement
Screw 5/16-18 x 1/2

Plug, Oil Fill

Screw

COVER, TRANSMISSION

TRANSMISSION COVER
ASSY.

Counterweight

GASKET, TRANSMISSION
HOUSING

Gasket Kit

Drive Tube Assembly
Linkage Assembly

PLATE, REINFORCEMENT
Ring, Retaining

WASHER, FLAT

STOP, ANTIBACKUP CAM
Pinion, Drive

SPRING, CLUTCH

Drive Shaft And Hub
Assembly

WASHER, STEEL

Washer, Nylon

Washer, Steel W/Tabs

Ring, Retaining

Gear, Cluster

GEAR, CRANK

HOUSING, TRANSMISSION
Lip Seal Repair Kit

Bearing Assembly
Transmission

Support, Tub

BRACE, TUB

Screw 5/16-18 x 1/2
Housing, Suspension
Retainer, Brake Spring
Spring, Brake

Screw 5/16-18 x 1/2

Screw 5/16-18 x 1/2

Brake Roto

Snubber

Stator, Brake

Screw, No.10-24 x .50 Hxnibhd
Thrust Bearing Kit
Thrust Bearing Kit
Cap, Dust

Thrust Bearing Kit

Transmission


http://www.pwslaundry.com/i-10429638-crosley-25-7057-washer-washer-flat.html
http://www.pwslaundry.com/i-10429638-crosley-25-7057-washer-washer-flat.html
http://www.pwslaundry.com/i-10430014-crosley-21001858-washer-screw-5-16-18-x-1-2.html
http://www.pwslaundry.com/i-10429737-crosley-35-2981-washer-cover-reinforcement.html
http://www.pwslaundry.com/i-10430014-crosley-21001858-washer-screw-5-16-18-x-1-2.html
http://www.pwslaundry.com/i-10429646-crosley-35-2621-washer-plug-oil-fill.html
http://www.pwslaundry.com/i-10428683-crosley-25-7758-washer-screw.html
http://www.pwslaundry.com/i-10430898-crosley-35-3706-washer-counterweight.html
http://www.pwslaundry.com/i-10428920-crosley-33-4293n-washer-gasket-kit.html
http://www.pwslaundry.com/i-10430862-crosley-35-3702-washer-drive-tube-assembly.html
http://www.pwslaundry.com/i-10430866-crosley-35-3804-washer-linkage-assembly.html
http://www.pwslaundry.com/i-10429552-crosley-25-7847-washer-ring-retaining.html
http://www.pwslaundry.com/i-10429556-crosley-35-2001-washer-pinion-drive.html
http://www.pwslaundry.com/i-10429741-crosley-35-2692-washer-drive-shaft-and-hub-assembly.html
http://www.pwslaundry.com/i-10428924-crosley-35-3825-washer-washer-nylon.html
http://www.pwslaundry.com/i-10429572-crosley-35-2070-washer-washer-steel-w-tabs.html
http://www.pwslaundry.com/i-10429745-crosley-25-7933-washer-dryer-ring-retaining.html
http://www.pwslaundry.com/i-10429660-crosley-35-2527-washer-gear-cluster.html
http://www.pwslaundry.com/i-10433747-crosley-207843-washer-lip-seal-repair-kit.html
http://www.pwslaundry.com/i-10430087-crosley-12001562-washer-bearing-assembly.html
http://www.pwslaundry.com/i-10433113-crosley-35-6680-washer-transmission.html
http://www.pwslaundry.com/i-10429925-crosley-21001518-washer-support-tub.html
http://www.pwslaundry.com/i-10430014-crosley-21001858-washer-screw-5-16-18-x-1-2.html
http://www.pwslaundry.com/i-10429933-crosley-21001163-washer-housing-suspension.html
http://www.pwslaundry.com/i-10429343-crosley-35-2017-washer-retainer-brake-spring.html
http://www.pwslaundry.com/i-10430018-crosley-21001910-washer-spring-brake.html
http://www.pwslaundry.com/i-10430014-crosley-21001858-washer-screw-5-16-18-x-1-2.html
http://www.pwslaundry.com/i-10430014-crosley-21001858-washer-screw-5-16-18-x-1-2.html
http://www.pwslaundry.com/i-10433114-crosley-35-6714-washer-brake-roto.html
http://www.pwslaundry.com/i-10429977-crosley-21002026-washer-snubber.html
http://www.pwslaundry.com/i-10430022-crosley-35-6918-washer-stator-brake.html
http://www.pwslaundry.com/i-10429921-crosley-21001065-washer-screw-no-10-24-x-50-hxnibhd.html
http://www.pwslaundry.com/i-10430026-crosley-12002213-washer-thrust-bearing-kit.html
http://www.pwslaundry.com/i-10430026-crosley-12002213-washer-thrust-bearing-kit.html
http://www.pwslaundry.com/i-10429375-crosley-35-2007-washer-cap-dust.html
http://www.pwslaundry.com/i-10430026-crosley-12002213-washer-thrust-bearing-kit.html
http://www.pwslaundry.com/i-10433113-crosley-35-6680-washer-transmission.html

	Crosley CW22B8M 05 - TRANSMISSION (SERIES 10-12)

